683.400

Flange Mounting Dimensions

12-0518 / Page 1 of 2
Uncontrolled Document

683.385 683.386 and 683.586
|
access hole for £
manual clamping 17 |1_> access hole
alternatively " for manual
h with HeliCoil la, 8 Fclamping
' L L0%ore for DIN 1481 pin insert . pg | ;
ls (toolproofing system) | | 10
ds g |
/ S 2 \|. spindle witlr%ou( O-ring
o ™
& ! A // M q
‘ A‘ 1 AL
) s /-
5 & & 8 8| s =] sl&sls T F K= 48 s
— | = 1 ) \’/ g
/ - SN
g T o a N 0O-ring NBR 70
53 2
sl %o, —R= 4)\\ indle with O-ri
S b . spindle witl -ring
I, 4—1 gl‘)):el)ndexlng : |
<|—5> | @DxT
5, (1 x indexing
la 12 bore)
% < %, %, %, %, %, %
- Q’?‘%) holder-@ o% . %40/ ‘%'620’@» »9‘90« o/%’ »@eo' @%’ 602“9%
p s
HSK % tolerance ¢ %@ Yo 60*0 00,;’
code no. D1 D2 D3 D4 D5 D6 d d2 d3 da
40 270 +0.15...+0.10 16.7 32.0 12.5 M 10 4.0 M 3 M3 2
50 33.5 +0.15...+0.10 20.6 40.5 16.0 M 12 5.0 M 4 M 4 8
63 42.0 +0.15...+0.10 25.5 52.0 20.0 M 16 6.0 M 5 M5 4
80 55.0 +0.15...+0.10 33.0 66.0 25.0 M 20 8.0 M 6 M6 4
100 68.0 +0.15...+0.10 41.0 82.0 32.0 M 24 10.2 M 8 M8 5
) 4 %, % % %, %, % 4 % 2> 4 %, %
| deptl o, Z; e e e S, ) <% L > 256 o, 0, Q6.
continued o0 ©oP %., ”0,@ &‘900 @"oo @‘900. %o,;)”&, %o;» @%, 0’30)0 oh,?o '9%27:9} o %o, ’4/:(}?9
tolereanc 6?91 /{9{3 %% %6; %o S 2 60,‘ % 60» %’,»0,5
% g ® ®
I I2 I3 la Is ls Iz I s \_* ho b R D T
9.0/ +0.015 | 4.0 6.5 22 10 25 0.6 20.5 11.5 3.5 7.0 3.0 35 3.0 2x6
12.0| +0.02 B3 8.7 30 1 &5 0.6 25.0 14.5 5.0 8.0 4.0 4.0 35 3x8
16.0| +0.03 | 8.0 12.0 36 12 5.0 0.8 315 18.3 6.0 10.5 5.0 4.0 35 4x10
20.0| +0.04 | 10.0 15.0 48 15 6.0 1.0 41.0 22,5 5.0 125 6.0 4.0 3.5 4x10
25.6| +0.04 | 13.0 19.3 60 14 75 1.0 50.0 28.0 6.0 16.0 75 5.0 4.5 5x12
683.386 holder-@ %, N\ %\ sfo, N\ % %, %, % o5, o, O\ %, % %\ %, N\ %\ O,
683.586 \%,) AN AN NG A SN NG NN AN
o o/s y ‘9\0\ © 6 1 60 60 (4 s, Oéo %f %’ ,‘S'l,' /@/) 1"6
for HSK \e tolerance & % ® ® & K ? ? o\
code no. D1 D3 D4 D5 D6 D7 D8 \ D9 D10 11 lo I3 I I5 lg 17\ T
10000 | 45| 28[+0.053.0.020 165 | 24 | - | 38 | - | M5 (M5 | 32| 82| 95| 62| 45| - | 14 o| -|16x2
243(?00 60| 30 |+0.053..0.020| 23.5 | 31 - 44 5 M5 (M8x1| 4.0| 10.3 |124 | 83| 70 - 11 |12 [3.5 |23x3
304800 70| 35 |+0.064..0.025 28.5 | 36 22 53 5 M6 (M8x1| 5.0 | 10.3 {124 | 83| 70 | 12 14 |12 (3.5 (28x3
385300 80| 40 |+0.064..0.025 30.5 | 41 26 63 5 M6 M8x1| 6.0 | 10.3 |13.3 83| 70 | 12 14 |12 [3.5 |30x4
486300 100 50 [+0.064..0.025 38.5 | 51 34 79 5 M8 M10x1| 8.0 | 12.3 |16.1 | 10.3 | 8.0 | 15 15 | 14 3.5 | 38x5
608(?00 117| 60 |+0.076..0.030 475 | 61 38 96 6 M8 M10x1| 10.2 | 12.3 [16.1 | 10.3 | 8.0 | 20 15 | 14 |4.5 |47x5
28000 |140| 80 |+0.076.0.030 65| 81 | 53 [ 19 | 6 |M10 |M10x1 120 | 12.3 |16.1 | 10.3 | 80 | 20 | 20 |14 |45 |65x5

109 North Main Street « Rockford, IL 61101 USA
Tel. 815 962-5600 * Fax 815 962-4600
www.TACRockford.com ¢ info@ TACRockford.com

TAC Rociford

DivisioN OF TRANSATLANTIC CONNECTION, INC.




683.400

Flange Mounting Dimensions

12-0518 / Page 2 of 2
Uncontrolled Document

683.581 and 683.584 683.582
I3 I
I2 lg Py
lg Is
alternatively
I with HeliCoil e
insert
dg 1 —
. s [
7] &~ O
% A \J ‘
m 7 K4
17 7% N =
i°/ LN
5 XX < I /
B 4 s 77&) V) @
W
Is T any position — | —
of coolant bore
I ls 17 I7
's access hole for o
manual clamping
& & >
o & I o & & SO & &
& <o L &0 o a2 & N L &S & & & N ¢
S 5 IR & L350 S 3 & (So /S L8 & S 3 3
HSK & LS SUSS LG L) & LS S IS LS L
code no. dq dz d3 ? da® ds de © d7 ds I1 Ip @ I3 2 Ia Is ¥ lg 17 Is
45 23 - - 5 35 M5 M4 6.8 - - 1:5 1 - 3.5 |min.8
55 28 21.12 17 6.4 43.5 M6 M4 6 9.75 | 16.75 2 1 0.6 3.5 10
63 36 234 21 8 51.5 M6 M4 7 1.3 19.9 25 1 1 4 12
80 46 33 26 10 65 M8 M5 9 14.7 25,5 B 15 1 5 16
100 56 425 34 16 815 M10 M6 12 17.8 30 a5 15 1 6 16
125 66 52.8 42 16 103 M12 M8 14 22.7 39.8 4 2 1.5 8 16
160 86 66 53 20 130 M16 | M10 16 274 49 4.5 2 2 10 20
N N & @ N ©
. 9 & AP > & S/, & ° & $ & & &
S & J &TF & 4 3 P & L TS LS & & R I &
ENJANES & & & © °F O ¥ & O & & & &
code no. d3 dg® ds ds d7 dg Iq I2 I3 lg Is le I7 Is lg l10
2112 | 17 64 | 320 | M3 | M4 | 88 |14.80 | 21.75| 2.0 1.0 0.6 3.5 |10.0 [ 11.9 |10.10| 2.0
26.40 | 21 80 | 405 | M4 | M4 | 11.0 [18.85 | 2740 | 2.5 1.0 1.0 4.0 | 12.0 | 13.9 |1240| 2.0
33.00f 26 | 10.0 | 52.0 | M5 | M 5| 15.5 |24.75 | 35.50 | 3.0 1.5 1.0 5.0 [ 12.0 | 184 |15.56| 2.5
4250 34 | 16.0 | 66.0 | M6 | M 6| 179 |30.35 | 4250 | 3.5 1.5 1.0 6.0 | 16.0 | 23.9 [20.00| 3.0
52.80| 42 |16.0 | 82.0| M8 | M 8 | 24.3 |40.25 | 57.30 | 4.0 2.0 1.5 8.0 | 16.0 | 32.9 |24.80| 3.5
66.00| 53 | 20.0 |106.0| M10 | M10 | 34.4 |54.45| 76.00| 4.5 1.5 2.0 | 10.0 | 16.0 | 42.4 | 31.40| 45
[ @ o & & & o
g ) <& < & & ¢
COO& 6\’00‘ o\‘& K‘Oo‘ (}r& ‘\‘Z:Q &é@ &é& &Q\ bQ’Q& 5\‘00
1) & & & & & & & & & & & &
« © S & & & & N S S S S &
d2 d3 ds [ I2 I3 la Is ls 17 lg lg l10
7.95 10 M10 20.55 20 15 n 1 2744 19.22 335 20 25
14.00 10 M12 25.00 21 18 16 1 31.70 26.00 41.0 22 26

109 North Main Street « Rockford, IL 61101 USA
Tel. 815 962-5600 * Fax 815 962-4600
www.TACRockford.com ¢ info@ TACRockford.com

TAC Rociford

DivisioN OF TRANSATLANTIC CONNECTION, INC.




